Name: Date: Period:
y All equations must first be converted to
y=2x+3
/1 12)7) : y=mx+b
7 Find the slope by *
! using the slope slope T
/ (1,5 formula: .
/ V2—v1 y-intercept
) 0, ) X2— X1
format before graphing
Convert the equation 4x + 2y = 10 into y = mx + b format.
Step 1: (solve for y):
Find the 4x+2y =10
y-intercept -4x -4x
(where the line 2y =—4x+10
crosses the y axis): 2 2 2
y=—2x+5
Step 2: Identifymandb. m= _TZ b=+5
y 3 Convert each of the following into y = mx + b format and
| y=—x+2 identify m and b.
7/ 2
/114 9)
/ ind the slope by
(V Nl Find the sl b
P making a.table 1. Find the slope and y-intercept of | m=
y ARG and using the line 2x + 3y = 9.
) changeiny _
/ (0’2 change in x b= —_—_
/V
2. Find the slope and y-intercept of | m =
the line 8x +y = 5.
Find the y b=
y-intercept -
(where the line
crosses the y axis):
3. Find the slope and y-intercept of | m =
the line 4y = -12x.
v y=-3x—-2 b= -
Find the slope by
using
rise 4. Find the slope and y-intercept of | m= -
run the line 8y = 6x + 4.
b= -
\
) (0,12 Find the 5. Find the slope and y-intercept of | m= -
K ’ y-intercept the line 12x — 3y = 9.
(where the line b=
\ . _
A (1,75 crosses the y axis):
\
X | (2,8
N\
y=mx + b intro




